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¢ [ aw of demand :
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e Inverse demand
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Price and Quantity of Cigarettes
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¢ What is the econontetric model? Oo = /f ,f Pa. e€8 o prefecences s income /CPT
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call:
Tm{formula = quantity ~ price)
mean { )
Residuals:
Min 10 Median 3g ':"”"L)
-56.9Y7 -9.710 -0.716 8. 550 69, 451 (
m
Fi es Limale Por ﬁ = ra“*‘l b. ) )
Coefficients: ;unmnr)r(
Estimate Btd. Error t value Pri=|t|)
(Intercept) 167. 8??3? 3.79749 44,21  <Ze-16 ¥=¥
price -0.40879 0.02468 -16.56 <2e-1h **¥
signif. codes: O %' 0,001 “*=' Q.01 =" Q.05 *." 0.1 ' ' 1
Residual standard errqr: 18.76 on 526 degrees of freedom ,O.M
Multiple R-squared: L3427, adjusted R-squared: 0.3415

F-statistic: 274.3 on and 526 DF, p-value: < 2.2e-16 ?\\lifi‘\‘“\ {_}/"'-
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Residual standard errqr: 18.76 on 526 degrees of freedom &\ /O,M
Multiple R-squared: L3427, adjusted R-squared: 0.3415 \ As_'k ( =
F-statistic: 274.3 on and 526 DF, p-value: < 2.2e-16 {hies L
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Price of Diamonds sy
/  Carals (5"“)

» How can the “model” for diamond pricing be
represented in an cquation?

e How is this useful? \ /Pﬂ(g ' /g! exabiblE

!—pjlfre 2l o diamond

¢ What determines the price of a diamond?



» Data: price — price in Singapore Ss, carat — weight of
diamond stones in carat unit
¢ From 2000 i =308 (S{)Lu‘ce Chu, Singfat {2001) “Pricing the Cy

of Diamond Stones”, Jourmnal of Statistics Education, 9[2).)

Price of diamonds, by carats

. *U- shape Lo biears Ch. #)
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carat

= summary(Im{price ~ carat))

call:
Im(formula = price ~ carat)

Residuals: .

Min 1o Median 3g Max
-2264.7 -604.3 -116.1 435.1 6591.5
Coefficients:

Estim std. Error t value Pri|t|)

(Intercept) &2298.4 158.5 -14.50 <Ze-1g &w*
carat 1T598.9 230.1 0,41 <le-1f #**
signif. codes: 0O f=#+=' 0,001 ‘*=' Q.01 **' 0.05 *." 0.1 ' ' 1

Residual standard error: 1118 on 306 degrees of freedom
Multiple R-squared: 0.8925, Adjusted R-sguared: 0.8922
F-statistic: 2541 on 1 and 306 DF, p-value: < 2.2e-16
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= -0agl +598.9 (0.6) ~ 466096



Price of diamonds, by carats
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e Equation? € = & MPCx § A (aewme (;Ei)waf MPC
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» Data: income - total disposable income (million
Pounds, current prices), eonsumption - consumer
expenditure (million Pounds, current prices)

o From UK., 1971-1985 (quarterly), n = 38 (Relerences
Verbeck, Marmo (20041 A Guide 1o Modem Economerries, John Wiley
and Sons, chaplers § and 9.)



Consumption and Income in the UK.
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> summary(Im{consumption ~ income)}
AT o s

C
Call: ) i
Im(formula = consumption ~ income)
A% gnje
ﬂ-mm'i “\3‘,@ y:0
coefficients: w 1164

Estimate)std. Errar t walue Pri=|t|)

Intercept) (1.768e+02)| 2.584e+02  0.684 0.497
g?c‘dﬁé B.690e-01) 7.497e-03 115.911 <2e-1p **¥ (4]

5ignif. codes: 0O ‘-‘{f-'*' 0000 Se=ingugd St QO0s; SEEl  M T

Residual standard erkor: 905.3 on 56 degrees of freedom
Multiple R-squared: .9958, adjusted R-squared: 0.9958
F-statistic: 1.344e+04%n 1 and 56 DF, p-value: < 2.2e-16

-?;/.HHG" = 0.569
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Consumption and Income in the UK.
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How should we
choose the line?
(estimate the intercept
and slope?)



